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Sig. of Candidate. Sig. of Invigilator.

N
- MATHEMATICS SSC-II
n (For Hearing Impaired Children)
SECTION — A (Marks 15)
B Time allowed: 20 Minutes
N NOTE:- Section—A is compulsory. All parts of this section are to be answered on the question paper itself. It
should be completed in the first 20 minutes and handed over to the Centre Superintendent.
n Deleting/overwriting is not allowed. Do not use lead pencil.
. Q1 Circle the correct option i.e. A/ B/ C/ D. Each part carries one mark.
{i) How many types of Algebraic sentences are there?
- A Four B. Three C. Two D. One
(i1} Which sign is denoted by Sum?
n A. n B. X C. > D. x
- {iii) Length of the line joining all points of the circle is:
A Chord B. Diameter C. Radius D. Circumference
. (v} In a data the values which occurs most often is calied:
. A Arithmetic mean B Median
C. Mode D. Circle
N
(V) V=
| >on b S Sy
A = B. = C. : D. ==
4 X Y n
. (vi) What is the rriean proportional of 9 and 167
. A =12 B. +13 C ~14 D. +15
. {vil} What is the unit of ratio?
A Gram B. Cm C. Second D. It has no unit
n {Viil) 344 =06 s alan:
- A. True sentence  B. False sentence C. in equation D. QOpen sentence
{ix) Which is an open sentence?
| A 7-3-12 B. 15-8-12  C 34108 D. 3+dy =5
[ ] {x) Iif x:y=w:w then R
y
; X W i
n A. . B. -~ C. D -
W H] i 1
- (xi) What is the mid value in the interval 34 --387 |
|
[ ] A 25 B. 30 C 3€ D 39 |
n (xii) Jy+2=35isa/an:
A In equation B. Eguation
N C. Algebraic expression D None of these
n (xii)  The third proportional of v and bis:
A / B “ c " D B
. ah ) . ) S _ ‘
N h a
R (xiv)  Eliminating xfrom equation x= " -and x=2mwe get:
‘ IH
N A 2mn =1 B. a1 =30 c 2pt=n D. 6mn=1
N (xv) The distance of any point of a circie from its centre is called:
A Chord B. Radius C. Diameter D. Arc
For Examiner’s use only: e
n o
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= (For Hearing Impaired Children)
Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE:- Answer any twelve parts from Section ‘B’ and any three guestions from Section ‘C’ on the separately

provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION ~ B (Marks 36)

Q.2  Attempt any TWELVE parts. All parts carry equal marks. (12x3=36)
() Solve by Factorization 9x° — 6x -8 (
(i) Find the solution set of standard quadratic equation ax’ +hy + ¢ =0

=2 b9 =9

(ii) Eliminate xfrom the following equations by comparison method:
xi=*F Ty
Iti
{iv) For what value of xthe ratio 3+ v:2 + 4xis equal to the ratic 2:37

(v) Find the fourth proportional of 3a’h", 5ab?. 9ab
(vi) What is an average?

{vii) Plot the following points on the graph paper:

a. (4.2) b. (2.-3) C. (3.~ 5)
(viif) A student Sharigue received the following number of prizes in his five ciasses:
| Classes i 6th ‘ 7th f 8th | QtH__!—ﬁ_dtH o
Y o 2 2 Ed
Representdhe above information by a simple bar diagram.
{ix) Find the mean proportional of « 1a” .
{x) The ratio between two numbers is 3:4 . If 12 1s added in both numbers, then the new ratio becomes

7:8. Find the numbers.
(xi)  Solve by Factorization v~ 8pv+i2p* =0
(xih) Find Arithmetic mean: 4, 6. 10,12, 15, 20, 25. 28, 30
(xiif) Which of the following are algebraic expressions and which are algebraic sentences?

a. 2y +3 b. 2y =1 c. 2y -5« -3

.
d Ixe 2y . L f Tl
N 2

(xiv)  The Arithmetic mean of 45 numbers is 80. Find the Sum.

v

o | b2

ey

(xv} Identify the linear equation from the following:
. , ! v+l
a. x—=5<3 b. X+2=-— C. o
2 2 5
a. Sz 2z e. Ix+m=10 f vio=0

(xvi)  Following are the earning (in Rs) of ten workers. 88, 70. 72. 125,115, 95. 81, 90, 95, 90 . Calcuiato Mode.
(xvily  Find the third proportional of 3 |12,
{(xvii) Define Median.

SECTION — C {(Marks 24)

Note: Attempt any THREE questions. All questions carry egual marks. (3 x 8=24)
Q.3 Construct a triangle LMN when  m.o [ =30, m LN = dem. mMN = 2em

Q4. Define the following and illustrate by diagram:  a. Circle b. Diameter of circle

Q5.  Plotthe graph of the following by taking at least two pints while (v, v e R): Sy -4 =5y

Q8. Construct triangle when MAB = dem . med =45 miB=060"
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( )J’” ‘c e E\b 70 7’) 5 l 15, ()5, 8]. L)(). 95 L)() u:(u’:v“: TEE 4, Uv””f Ty ()(\/i)

3,12 S e S (xvil)
B A (i)

(24 /f ) (v
(3x8=24) gt e AL e gE S ‘-,E_.»«_Jf )

mL =307 mIN =40, mMN =20 &y @ LMNe
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